Lk £ ESHB TR HAIES
_H_K_m_?k_ﬁ_j:_a ( 8/58) ~ ~
wxmnn (e [ [B] [x| [« [=] [&] [] |8 ¢ = - - BAIE B E (18R B 7-1)
A PN K ZN 4 + B < 8/58) ~ ~ s pEpy P
Wi 2 4 6 8 10 12 14 16 18 20 22 &t RS RE B | ©
PR _QJ’;;E%‘”“ BE | @
| R 35 EER S
HEEE prye————
5t EREEER
A IR i BE | @
EHARER BRI
F—IEARF R % —$EAR SR B | ®
Enw IR e
BRERE
BRI HL AT
EERN
BMOE B M e S EC)
EREEER (k3
R
8 R mlo -
- = | B RERR Rl O]
F—IEARFRR —RAEER & | @
A
ERmEE IR (ERBY)
ExHBM
B s B RS ﬂ‘r‘:f‘r B#Fﬁﬁ @
5 S8R B | ©®
c EN o
EiR R BRERTE B
H— R
EE A
BRERE
LI & By ZERRTEE B
1 6 1 6
2 7 2 7
3 8 3 8
4 9 4 9
5 10 5 10
RHE SR HE | HERX |HERR| &4
1. FERERINIL. B, ARIICRHB I IERIMMNEFHL TS, ®+0 21
2. ZIREEERRIFE—HEEERZHOEXHENIL., B, ZRIMHLBHELTLS, ®+® =1
3. ARSI HEFIAE LY DENKEEFRK OB EROMERMO—ER DK ®+0 21
4. EHIED- B ERIRGTH SNSRI HRIR R B EREEER R E— A EE R EIROHE R D+@+Q@ 21
5 EEBEERRII—RAERERFRSHAERHMEHOBRIERB=1/2 @+® 21/2
6. EHIETOHFEEFHE - FRIRE B EREEER R IFE—BEESERSHERME %+®+ =1
7. R EEREGERSREHME/ EIREEERRIT—BAEERZRSFERE=1/2 @+@ 21/2
8. E—HEERERSHENHE/ BEEEEEANE—BRAEESERSHERHM=1/2 ®+@ =1/2
9. %5:00~22:00ZDHAERH =15 By =15
( EROHEH ) ¥ & |
LT, 18H-Y0ZERALAERMAOMULEDERICSWNTREHT I L
AR A& " (BRF-BE 2% -8H) AIEICHVTEBET>HBMRUB N
AER(A) x2/3+Z DM DZEF % ( B ) N
(8% H
" | /58
B i
Hran
A/B HEEEHIETR BEDEHKHIZLD
e 40K 1% u & A o &

X RO BHITRERAARCTE AL, BEFIMEOHBHEBR/ MERBMERG-UTEYVHLEZRTHELELET.
ARERHNBNGEEE, RIEFKFS2BE TR 2, I1SOTHNFERER LTSI LITBYET,




Al 1 x[ &[] 1&[ ]z B /58)
BT B R Al & 1= =] [=[ [z B /58)
Al & 1= =] [=[ [z B /58)
= Al Ix &[] &[]z B /58)
el HINEREERNERENRE B/58)
iG] A X ViS X & +* H/:8)
ETRg
EXS Al Ix[ &[] &[]z B /58)
ig% Bl & x| [= [&[ [ B/58)
ERR A X NI E: B/:8)
ES
Bi5g Al Ix[ &[] &[]z B /58)
%’j;j;; Bl & [x[ |x[ |&] [ B/
ThE Bl & [x[ |x] |&] [ B/
BRFEE Al & 1= =] [=[ [z B /58)
fil Al %[ |x[ |®[ &[] [= A/58)
al 1] 1x[ 1x[ 1] 1z B /58)
’g@’i al 1« Ix[ x| &| [x 8/58)
al T 1] [#[ T&] [z B /58)
—_ al 1x[ 1x[1x[ e[ 1z B /58)
e Al (& = [#=[ =] [z B /58)
Fi al [x[ |« [=] [ [z B /i)
- al 1a 1x[1x[ 1] 1z B /58)
= Al (& = [#=[ =] [z B /58)
ok Bl [ %[ 1= 2 [z B/38)




